2019 ORG MECH: Electrophiles and Acids FINAL 100 points

NAME:

1) (4+2+2+3=11pts)
a) List the 4 things that can happen to a carbocation.

b) What is Occam’s Razor?

¢) Can you prove a mechanism is correct?

d) What are the precise scientific meanings of these three different arrows?
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2) (6x2=12pts) Define the following terms:
Electrophile

Protic Acid

Mechanism

Isomer

Rearrangement

Ring strain

3) (2pts) Name two of the things you should check when critically
evaluating the curly arrows you have drawn to represent a mechanism.
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THE NEXT SECTION
HAS 4
MECHANISM PROBLEMS
W,X,Yand Z
EACH IS WORTH 25 PTS
ATTEMPT ALL OF THEM
I WILL PICK YOUR HIGHEST SCORING THREE

(For 3x25 =75 pts)

Partial credit will be awarded for:

i) Correct atom labelling between SM and Products
i)  “Correct” Organic Chemistry
iii)  Resonance structures and “fustifications”

(I will award up to 5/5 bonus points for the 4" answer).
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W) Draw the mechanism (i.e. curly arrows) for this reaction.

Cl

H Excess HCI /‘Y
O

Cl
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X) Draw the mechanism (i.e. curly arrows) for this reaction.
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Y) Draw the mechanism (i.e. curly arrows) for this reaction.

Y
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Z) Draw the mechanism (i.e. curly arrows) for this reaction which produces
three different products (all coming from the same carbocation intermediate).

) OH
M HZSO4 O H2304 W
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2019 ORG MECH: Electrophiles and Acids FINAL 100 points
e
NAME: ?cf(—e & Anguars

1) (4+2+2+3=11pts)
a) List the 4 things that can happen to a carbocation.
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b) What is Occam’s Razor? ,
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¢) Can you prove a mechanism is correct?
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d) What are the precise scientific meanings of these three different arrows?
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2) (6x2=12pts) Define the following terms:
Electrophile
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3) (2pts) Name two of the things you should check when critically
evaluating the curly arrows you have drawn to represent a mechanism.
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THE NEXT SECTION
HAS 4
MECHANISM PROBLEMS
W,X,Yand Z
EACH IS WORTH 25 PTS
ATTEMPT ALL OF THEM
I WILL PICK YOUR HIGHEST SCORING THREE

(For 3x25 =175 pts)

Partial credit will be awarded for:

i) Correct atom labelling between SM and Products
i)  “Correct” Organic Chemistry
iif)  Resonance structures and “justifications”

(I will award up to 5/5 bonus points for the 4" answer).
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W) Draw the mechanism (i.e. curly arrows) for this reaction.
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X) Draw the mechanism (i.e. curly arrows) for this reac&ion.
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Y) Draw the mechanism (i.e. curly arrows) for this reaction.
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7)) Draw the mechanism (i.e. curly arrows) for this reaction which produces
three different products.
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